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Question Number : 1 Question Id : 973597928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The condition-based operations that are evaluated by ALU as either True or False are called:

Options:

, w Arithmetic operations

-  Logic operations

- % Unary operations

, % Binary operations

Question Number : 1 Question Id : 973597928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 2 Question Id : 973597929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following generates various control signals to control the functional units of the computer systems?

Options:
, % Input device

» u Register

5 « Control unit

4 % ALU

Question Number : 2 Question Id : 973597929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 973597930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The clock rate of a CPU which can perform 2800000 clock cycles per second is:

Options:
, % 2.8Hz

> % 2.8 KHz
3 « 2.8 MHz

4 % 2.8GHz

Question Number : 3 Question Id : 973597930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

| % 2.8 Hz

. % 2.8 KHz
- v 2.8 MHz

L % 2.8 GHz

Question Number : 4 Question Id : 973597931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following generally has lowest processing power and number of users support?

Options:



, % Minicomputers

-  Microcomputers
5 % Supercomputers

4 % Mainframe computers

Question Number : 4 Question Id : 973597931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 973597932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For a printer, the higher the DPI, the image.

Options:
| « Sharper

- % smaller
5 % larger

4 w longer

Question Number : 5 Question Id : 973597932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 973597933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements about RAM is false?

Options:
; » RAMis also called main memory.

>  RAMis also called tertiary memory.

= % RAM is faster than ROM.

4 % RAMIs also called primary memory.

Question Number : 6 Question Id : 973597933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 7 Question Id : 973597934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) PPI stands for Pixels Per Inch.
1) DPI is generally used to measure printer resolution.

Options:
; = I- False, II - False



>  1-Tre, II - True
- % 1-True, II- False

g% L+ False. II - True

Question Number : 7 Question Id : 973597934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 973597935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) MICR A) Optical disk
IT) Blu-ray B) Fujio Masuoka
IIT) Flash memory C) Input device

Options:
» I-C.H-ATI-B

, % [-C.II-B,II-A
5 % [-B.II-ATI-C

, % [-B.II-C,III-A

Question Number : 8 Question Id : 973597935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 973597936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

First-generation programming language uses:
Options:

1 % Assembler

- » Compiler
5 % Interpreter

4 « No translator

Question Number : 9 Question Id : 973597936 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 973597937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is designed to operate the computer and control its activities?

Options:
, w Utility software

o  System software
%z % Firmware

4 % Freeware

Question Number : 10 Question Id : 973597937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 973597938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Operating system is a (n) which manages the overall functions of the computer.

Options:
, % Aapplication software
o o System software

5 % freeware

4 » utility software



Question Number : 11 Question Id : 973597938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 973597939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Most of the components of the Unix operating system are written in programming language.

Options:
1 % Pascal

2 C
= % Fortran

4 % Java

Question Number : 12 Question Id : 973597939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 973597940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following statements about Unix is true?

Options:

, w Unix is an open-source software.

>  Almost the entire Unix is written in C programming language.

5 % Unix was initially developed by the IBM.

4 % Almost the entire Unix is written in C++ programming language.

Question Number : 13 Question Id : 973597940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 973597941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Using 8-bit address lines, up to memory locations can be addressed.

Options:
1 ® 3

A 32

Question Number : 14 Question Id : 973597941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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1 % 8
- ® 32
2 % 128

L v 256

Question Number : 15 Question Id : 973597942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements about computer booting is false?
Options:

, % Power-on-self-test is the first step of the boot process.

- » If power-on-self-test fails then boot process can’t be completed.

- A computer can’t be boot using CD or other auxiliary devices.

4 = After booting, the operating system takes care of the computer operations.

Question Number : 15 Question Id : 973597942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 973597943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a Class-A IP address?

Options:
1 ® 10010101.10101010.01010101.00001111



-~ % 11001101.10101110.01010101.01001111
= % 11010101.11101010.01010101.00101111

4 + 01010101.10101010.01010101.00001111

Question Number : 16 Question Id : 973597943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 = 10010101.10101010.01010101.00001111

> % 11001101.10101110.01010101.01001111

= % 11010101.11101010.01010101.00101111

4 + 01010101.10101010.01010101.00001111

Question Number : 17 Question Id : 973597944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Desktop provide(s) access to commonly used programs, folders and files.
Options:

1« Icons

-~ » Background colour

- % Taskbar

4 w Properties

Question Number : 17 Question Id : 973597944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 973597945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Windows, whenever a window is opened, an icon representing the underlying application program appears on:

Options:

; w» Desktop

> o Taskbar
= % Menu Bar

4 u Title Bar

Question Number : 18 Question Id : 973597945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 973597946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) To quit a program in Windows, select the close button (%) in the upper-right corner of the window.
IT) To quit a program in Windows, Click on File/Windows menu and select Exit option.

Options:
; & I-Tre, TI- False

i L False. II - True



z  1-Tre, II - True

4 % 1-False II - False

Question Number : 19 Question Id : 973597946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 973597947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) Control panel A) Displays clock and other icons
1) START button B) Customizes the way Windows look and work
IIT)  System tray C) Opens start menu

Options:
. » I-B.II-C.II-A

o % I-B,II-AII-C
. % 1-C.II-B,III-A

. % I-AII-C.II-B

Question Number : 20 Question Id : 973597947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 973597948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements about Windows “Guest account™ is false?

Options:
, = A Windows system may have more than one guest account.

o %
Guest account allows people to use vour computer without having access to your personal files.

= « (uest account can never be turned off.

4 % Guest account users can't install software or hardware.

Question Number : 21 Question Id : 973597948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 973597949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A (n) has the privilege to install software or hardware, create users and change system settings.

Options:
1 # GQGuest user

> « Administrator
= % Normal user

4 % DBoth Guest and Normal users

Question Number : 22 Question Id : 973597949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 973597950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Windows NT systems. “Event Viewer” lets administrators and users to view:
Options:

1 % The number of files and folders

> % Theevent logs on only local machine
3 o The event logs on a local or remote machine

4 % Theeventlogs on only remote machine



Question Number : 23 Question Id : 973597950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 973597951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Press key to bring Windows advanced boot options screen.

Options:
1 ® F2
o> ® F3

= % F5

4.« F8

Question Number : 24 Question Id : 973597951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 973597952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following statements about public key cryptography is false?
Options:

; = Itisalso called asymmetric cryptography

> o Itisalso called symmetric eryptography
- % It uses both public and private keys.

4 w Itallows any person to encrypt a message using the public key of the receiver.

Question Number : 25 Question Id : 973597952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 973597953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) The Guest user account can be enabled or disabled only by an administrator.
IT) A Guest user can create files anywhere in a computer.

Options:
, = I-False II- True
>  1-True, II - False

= ® I-True, Il - True

4 % 1-False II - False

Question Number : 26 Question Id : 973597953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 973597954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The full-form of the file extension .GIF is:
Options:

, w Graphics Installation Format

o « Graphics Interchange Format
- » Graphics Installation File

4, % Graphics Interchange File

Question Number : 27 Question Id : 973597954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 973597955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a compressed file?

Options:
1 % Fl.7z

> % F2BIN
5 % F3.ZIP

4 « FA4PDF

Question Number : 28 Question Id : 973597955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % F1.7z
- % F2.BIN
s ® F3.ZIP

. v F4PDF

Question Number : 29 Question Id : 973597956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following extension is used to represent database files in Microsoft Access version 2007 or later?

Options:
1 « ACCDB

> % .ADB
- % MADB

4 % MDB

Question Number : 29 Question Id : 973597956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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., v .ACCDB

. » .ADB
- = .MADB
. = .MDB

Question Number : 30 Question Id : 973597957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Windows, when vou create a new folder, by default it will have folders.
Options:

1 ® 0

M
%
I

Question Number : 30 Question Id : 973597957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 31 Question Id : 973597958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) A folder is a container in which computer files and other folders can be kept and organized.
II) A folder can’t contain more than 16 other folders.

Options:
1 « I-Tme, II-False



i 8 L False. II - True
2 ® I-True, II- True

4 % 1-False II - False

Question Number : 31 Question Id : 973597958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 973597959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) Windows Explorer A) Compressed file
1) Directory Tree Window  B) File management utility
oy GZ C) Lists folders and sub-folders in a tree- like structure
Options:

. % [-AII-B,II-C
, % I-AII-C.II-B
5 % [-B.II-AII-C

4w I-B.I-C.II-A

Question Number : 32 Question Id : 973597959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 973597960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an application software for composing, editing, formatting and printing of documents?

Options:
|« Word processor
- % Firmware

5 % Spreadsheet

4 % Database

Question Number : 33 Question Id : 973597960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fafaeEs & ¥ &g vioesee TveaaT & 3930 Si9gde & 59, Tfee, Fide 3 e == § B
favar e #2

Options:

1\,aé’§ﬂ1‘3m?




Question Number : 34 Question Id : 973597961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the most widely used word processing software?

Options:
1 #% WordPerfect

> « MS-Word
=z % KWord

4 % LibreOffice Word

Question Number : 34 Question Id : 973597961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FafafET # ¥ gen 3% voer o S IreT 9 SrafEer giveaTY #iT o1 27
Options:

| % STt

> v TAUH-IE

s % &5

4 v -3t 33

Question Number : 35 Question Id : 973597962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Worl processors, a special text box with or without a small tail which points to a particular lecation on a document is
called:

Options:

| % Format pamnter

-~ % Footnote
3z % Endnote

4 « Callout

Question Number : 35 Question Id : 973597962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 ® '-fﬁ?:"ﬁﬂ?

FeAlT

o #® 2

3 R ECI

4  FIAHEE

Question Number : 36 Question Id : 973597963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word, short-cut kev to open Print Preview window is:

Options:

1 % Ctrl +F1
> « Ctril +F2
z # Ctrll+F3
4 ® Ctrl +F4

Question Number : 36 Question Id : 973597963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
tATE-a5 H, e ey [ gew 1 s i &
Options:

, % Cil + F1
» ¢ Ctrl + F2
2 % Ctrl + F3

. % Ctrl + F4

Question Number : 37 Question Id : 973597964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word. function key to open Save As window is:
Options:



T B F7

i F12

Question Number : 37 Question Id : 973597964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TATH-I5 H, Save As 331 @ #r v E-E?I' g

Options:

4 v F12

Question Number : 38 Question Id : 973597965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Insuperscript, small characters are placed below the line of text.
IT) In subscript, small characters are placed above the line of text.

Options:
; % I-Trme, II- True
> % 1-Trme, II- False

- % I- False. II - True

4 « 1-False, II - False

Question Number : 38 Question Id : 973597965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 39 Question Id : 973597966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The default extension of a Workbook in MS-Excel 2007 or newer versions is:

Options:
i % XLS

> % XLSN
5 o XLSX

4 % XLSM

Question Number : 39 Question Id : 973597966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
CHTH-UeH 2007 IT AT HERIUN H FFgF H1 [3thloe T ¢

Options:

. % XLS

, % XLSN
2 ¢ XLSX

. % XLSM

Question Number : 40 Question Id : 973597967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The address of the Excel cell at the intersection of 9% row and 26™ column is:



Options:
1 Z9

o R Z-9
ST ] 95

4 B R7Z0#

Question Number : 40 Question Id : 973597967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

OF I 3T 269 HaIH & HA'T 9T TFHT T T IaT g
Options:

1 29

- % 2?9
z B 295

L % HZOH

Question Number : 41 Question Id : 973597968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following errors occurs when Microsoft Excel doesn't recognize text in a formula?

Options:
i ® #Nr"la"jk

> % #VALUE!
5 « H#NAME?

4 % #NULL!

Question Number : 41 Question Id : 973597968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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. % #VALUE!
- v #NAME?

4 % #NULL!

Question Number : 42 Question Id : 973597969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The absolute address of the cell at the intersection of 3™ row and 16™ column is:
Options:
l_ﬁ P3

o ® P533

2  $PS$3

Question Number : 42 Question Id : 973597969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
dray T X 163 FieH & FAS 9T el FT 0T TaT @I

Options:

1 ® PS
o R P$3$
= o $P$3

. u HPH3

Question Number : 43 Question Id : 973597970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number of cells in the cell range K7:R12 is:

Options:
1 ® 34

o o 48

=z W 24



Question Number : 43 Question Id : 973597970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T & K7:R12 & ool A T & 2
Options:

Question Number : 44 Question Id : 973597971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following category of chart displays the contribution of each value to a total like pie chart, but it can
contain multiple series?
Options:
1 % Scatter chart

> % DBar chart

5  Doughnut chart

4 # DBubble chart

Question Number : 44 Question Id : 973597971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
e Fr FeaTETET ST # O &is O =1 7 iF 2w # 9% A9 & IWEe & 29T §, 97 SHE
Options:
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Question Number : 45 Question Id : 973597972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The value of the Excel formula =COLUMNS(C5:F6) is:
Options:

1 ® 6

Lh

o W

Question Number : 45 Question Id : 973597972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TeFHe Fem =COLUMNS(C5:F6) T # grem:

Options:

1. % 6
2%-35
z ¢ 4

4 % 2

Question Number : 46 Question Id : 973597973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) In MS-Excel, scatter chart is also known as X'Y-chart.
IT) Pictures can’t be inserted into Excel worksheets.

Options:
; % I-Trme, II- True
>  1-True, II - False

- % I- False. II - True

4 % 1-False II - False



Question Number : 46 Question Id : 973597973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 47 Question Id : 973597974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The full-form of W3C is:
Options:

1 % World-3 Consortium

o

World Wide Web Committee

ra
®

World-War-1II Committee

L
®

4 « World Wide Web Consortium

Question Number : 47 Question Id : 973597974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
W3C & quT A1H &

Options:
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Question Number : 48 Question Id : 973597975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A webpage generally contains codes.

Options:
| Mark-up language

> # Compressed
- % Assembly language

, # Encrypted

Question Number : 48 Question Id : 973597975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T 9O F HHAR W H1s g 2

Options:

4 HTF-3T dva=

Question Number : 49 Question Id : 973597976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Orkut was a website.

Options:
1 « Social networking
> w Microblogging

= % Portal

4 % Searchengine

Question Number : 49 Question Id : 973597976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 50 Question Id : 973597977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
was the inventor of the World Wide Web.

Options:
1 % Bill Gates

> % Alan Turing

3 « Tim Berners-Lee

4 % Steve Jobs

Question Number : 50 Question Id : 973597977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 51 Question Id : 973597978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following allows users to interact and collaborate with each other and share information online?

Options:



1 % Webl.0
> « Web 2.0
w« Opera

% Search Engine

Question Number : 51 Question Id : 973597978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

S_Qém

Question Number : 52 Question Id : 973597979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Internet is the best-known example of Metropolitan Area Network (MAN).
IT) Webpages written in HTML don’t support hyperlinks.

Options:
; w» I-Tre, II- False
i L False. II - True

z ® I- True, II - True

4 « 1-False II - False

Question Number : 52 Question Id : 973597979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Read the following passage and answer the questions based on it.

William Wallace was born in the 1270s in Elderslie. Scotland. into an
aristocrat family. Very little is known about his early vears.

While he was growing up. nobody expected voung William Wallace,
to become a hero one day. However, as he learnt more about his
country, he knew, he wanted to fight to help his people to be free. At
that time. King Edward of England wanted to be the king of Scotland,
50 he used to pay a lot of money to Scottish Lords so that their people
wouldn’t fight against him. Whenever they refused to take the money
because they wanted to fight the English, King Edward’s army killed
them. Sadly. William’s father was one of the men they killed, and this
made William even more determined to fight for his country.

William gathered an army of men to fight the English. He told them,
‘Every man dies, but not every man truly lives.” These words gave his
army courage. William’s army fought many battles, like the battle of
Sterling Bridge on 11 September 1297, where they killed 5000 English
soldiers. In the same year he was knighted and appointed ‘Guardian of
Kingdom’ in the name of John Balliol, the deposed king of Scotland.
However, 1304, the English won the long fight and ruled Scotland.
The next vear, they caught William. They killed him in August of that
vear. and put his head on a pole beside London Bridge to remind
people how dangerous it was to fight the English.

Sub questions

Question Number : 53 Question Id : 973597981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
William Wallace belonged to

Options:
, » England

> % Ireland
3 « Scotland

4 % Great Britain

Question Number : 54 Question Id : 973597982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Why did King Edward used to give money to the
Scottish Lords?

Options:

, « Tokeep the Scottish people away from fighting.



> % To help the Scottish people.

- % 1o keep them happy and contented.

4 % To frighten them.

Question Number : 55 Question Id : 973597983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

After reading the passage, one infers that King
Edward was:

Options:

1 + ambitious and cruel

- % Ccourageous and valiant
5 » cowardly and selfish

4, % cunning and clever

Question Number : 56 Question Id : 973597984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
William Wallace’s mission was to

Options:
, % avenge his father’s death

-  Hght for his country to keep the British King away

= % become a national hero

4 w dieamartyr’s death

Question Number : 57 Question Id : 973597985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Read the following four sentences carefully and
choose the option which depicts the sequence of

events as they appear in the passage.

G. William Wallace gathered an army of men
to fight the English and he fought many
battles.

H. William Wallace wanted to help the Scoftish
people to be free.

I. In 1304, the English won the long fight and
killed William.

J. King Edward of England wanted to be the

King of Scotland also.

Options:
;% I-1 -G II-H.IV-J

o -H - F T-GIV -1
3 % I-J.' H'I_- III-HIR-'-G

4 # I-GII-J M-HIV-I

Question Id : 973597980 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 973597981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 54 Question Id : 973597982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 55 Question Id : 973597983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 56 Question Id : 973597984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 57 Question Id : 973597985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 58 Question Id : 973597986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Evaluate the following expression.

(583.65—36.25)+50x20=7
Options:
1 % 21.98

> % 0.547
5 « 218.96

4 % 0.054

Question Number : 58 Question Id : 973597986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T a#eRor &1 g &
(583.65 - 36.25) + 50 x 20 = ?

Options:

% 21.98

. % 0.547
- v 218.96

. % 0.054

Question Number : 59 Question Id : 973597987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The owner of a fumiture shop changes his customer 15% more than the cost price. I the customer paid T 9,039 [or a
sofa set, then what is its cost price?

Options:



, % 37,680
» o T7,860
5 & T7.950

4 % 37,600

Question Number : 59 Question Id : 973597987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T Felled FT GE @ Ao AT AEE § AeE qed § 15% HiUw fAd agea ¢ 1fE e 0w
A B % T T 9,039 gear g, O SUE @Ed #eg a4 A7

Options:

. % T7,680

, » 7,860
. = 7,950

. » ¥ 7,600

Question Number : 60 Question Id : 973597988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In how many years will T 1,800 amount to ¥ 2,178 at 10% per annum when compounded annually?
Options:

1 ® 3

[
Lh

> R

M
®
Lad
LA

I-J

4

Question Number : 60 Question Id : 973597988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1%&3



Question Number : 61 Question Id : 973597989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A procer brings 10 ke of tea at the rate of T 60/kg and another 10 kg of tea at the rate of T 68/ke. In what ratio thould he
mix these two varieties of tea w0 as 1o achisve a cost price of ¥ 634"

Options:
5.8 BiZ

oo 5:3

=W ST

Question Number : 61 Question Id : 973597989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

2 3:2
>« D13
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Question Number : 62 Question Id : 973597990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Reena scored B0, 85, 65, 50 and 90 marks in five different subjects. What is her average score for all five subjects
combined together?
Options:
1 ® 70

o> ® T



Question Number : 62 Question Id : 973597990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

4 v 14

Question Number : 63 Question Id : 973597991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

) " . 2 . . & i
The side of a square is twice the length of a rectangle of area 828 cm*. Perimeter of a rectangle is 118 cm. what is the
petimeter of the square?

Options:
1 % 184 cm

- o 288 cm
= % 144 cm

4 % 244 cm

Question Number : 63 Question Id : 973597991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Based on the given analogy. find the missing number.

8:81:64:7
Options:
1 % 125

|

o R 13

Question Number : 64 Question Id : 973597992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& 7% WEUAT & ITUR T IFANIEAT HEA A HL
5 oral =84 7

Options:
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If in a certain code, SWITCH is written as TVISDG, which word would be written as CQFZE?

Options:
1 ® BARED

> % BRAED
- v BREAD

4 % BRADE
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et T s=wmar & SWITCH = TVUSDG o 3 &, f foFw owg =7 CQFZE g Fmoeme?

Options:

. % BARED
., » BRAED
- « BREAD

. » BRADE
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Renu walks 30 km north from a fixed poimnt, then after tuming to her right she walks 15 km. Then she walks 30 km afler
turning right. How far and in what direction 15 she from the starting point?

Options:
, ® 45km, East

5 15 km, East
5 % 45 km, West

4 % 45 km. North
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A is father of C and D is son of B. E is brother of A. If C 1s sister of D, how is B related to E?

Options:
, w Daughter

> % DBrother-in-Law
- % Husband

4 « Sister-in-Law
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1 ® 2
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= W qﬁ

4w STET
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In a certain code, if

‘256’ means ‘eat mango daily’

‘637’ means ‘mango is sweet’

‘358’ means ‘eat sweet regularly’

Which of the following represents ‘is’ in that code?
Options:
1 ® 2
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Correct: 1 Wrong: 0
A statement followed by two conclusions is given.

Select a conclusion that follows from the statement, assuming everything in the statement to be true.

Statement: We should inform all our officers not to read newspapers during office hours — Chief Manager tells
Chief Administrator.

Conclusion:
I. Reading newspaper during office hours is desirable.
II.  Office efficiency will not increase by stopping this.

Options:



, w Only conclusion I follows

> % Only conclusion IT follows

- % Either I or II follows

4 « Neither I nor II follows
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When is the World Day Against Child Labour observed every year?

Options:
1 % 11 December

> % 20 December
= o 12 June

4 % 5 June
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Correct: 1 Wrong: 0
Who is the present chairman of Indian Space Research Organisation (ISRO)?

Options:
1 % Shri G. Madhavan
- % Dr. K. Radhakrishnan

= % Prof. Satish Dhawan



4 « Shri A. S. Kiran Kumar
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NABARD organisation 1s associated with the development of which of the following areas?

Options:

i Agricultural sector and rural area

> » Heavy industry

- » DBanking sector

4 % Real estate
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Who won the ‘ICC Emerging Cricketer of the Year 2016° award?

Options:
, = Ajantha Mendis

- % Ravichandran Ashwin

= « Mustafizur Rahman

o,

Virat Kohli

o
®
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Which of the following cities hosted the 2017 IIFA Awards?
Options:

1 # Dubai

5

> o New York
- % London

4 % Kuala Lumpur
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Who is the author of the book ‘Tamas’?
Options:

1 + Bhisham Sahni

- u Balraj Sahni

= % Premchand

4 % Amrita Pritam
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Wornen's History Month is an annual declared month that is traditionally held in March, but the study of
wormen's history is valuable all twelve months of the year. Wormen hawve overcome daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Question Number : 77 Question Id : 9735971005 Question Type: TYPING TEST Display Question Number : Yes

Sorme Indian startups are letting their imagination run amok with job titles. The finance head at online wallet
company such as Mobiwilk is called chief number cruncher while the company product manager is called chief
idea man. The human resources head is the chief happiness officer and the information technology head is
designated Dr Fixit. As per the CED of Leadership Capital Consulting, these creative yet obscure designations
help cornpanies make regular jobs sound interesting and club multiple roles into one position. Startups are all
about chaos and people do multiple roles in these companies. 5o a chief technology officer does not only work
orl the company technology wision but also writes codes and does testing. Hence a traditional designation may
ot convey these multiple jobs Clubbed into one. Maling job titles sound cool also helps companies attract
talent. There is a growing trend in startups to let a new recruit select a title of his or her liking that he or she
can use. Bipin Preet Singh, founder and CED of MobiKwik says that they give everyone a formal designation
whien they join that allows ermployees picking quirky new age titles. On June 11 Ecorrmmerce Cormpany Flipkart
said it has created a new role that is entrepreneur in residence and hired information technology industry
experienced person Ravi Garikipati for the job. Typically it is a temporary and informal position giver to an
entrepreneur who is in the process of starting a new company. Cofounder of MadRat Rajat Dhariwal states his
designation as founder & head rat. The company also has some nerd rats and geek rats in its technology
teams. Although these designations have landed the Bengaluru based cormpany to trouble at tirnes while
making regulatory filings. It is not exactly an exercise for the sake of amusement. The practice breaks the
typical monotony and hierarchy as told by Dhariwal. For him this has more to do with creating a culture of
equality. There are certain creative job titles that have become popular among several startups even though
most people have no clue what they mean. And these titles might mean different things in different
cormpanies. For example Raju Vegesna has served as an evangelist for Zoho that is the makers of online suites
of office softvware. But basically, he heads the company mobile app division. On the other hand, Shagufta
Anurag is the chief design evangelist at Livspace an Ecorrmerce startup in the home design and decor space.
Her job is to create the looks for the interiors and decor of houses for the company. These titles have a lot to
do with sugar coating and forever sounds interesting but creates lots of confusing situation where designation
of two personnel clashes.
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